
NWT 4 Linux & Windows  01 Januar 2010, 22:27

Startfrequenz: 0.100000 MHz; Endfrequenz: 4.000000 MHz; Schrittweite: 0.780 kHz

Messpunkte: 5000; Zwischenzeit:  100 uSek

Hochpassfilter f-3=1,55MHz

 

Kursor 1:

1.556551 MHz

Kanal1: -8.39dB

Kanal2: -3.03dB

---------------------

Kursor 2:

1.806981 MHz

Kanal1: -18.31dB

Kanal2: -1.13dB

---------------------

Kursor 3:

2.000460 MHz

Kanal1: -14.30dB

Kanal2: -0.95dB

---------------------

Kursor 4:

3.500700 MHz

Kanal1: -22.50dB

Kanal2: -0.57dB

---------------------

Kursor 5:

3.809642 MHz

Kanal1: -19.64dB

Kanal2: -0.57dB

---------------------

Kanal 1

max:0.57dB 0.635967MHz

min:-43.67dB 2.989698MHz

---------------------

Kanal 2

max:-0.19dB 3.466373MHz

min:-62.40dB 0.100000MHz

---------------------


